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CLASS IX EXAMINATION, 2024
( Paper - I1 )

nfoTe / MATHEMATICS
( MCQ Type )

WY ;| e 30 R qutis : 40
Time : 1 Hr. 30 Min. ~ FullMarks : 40

AW 291 / GENERAL INSTRUCTIONS :

1. wemedl @ geftm 3ffo Wo IR0 IW-T5% & I8 2 W Higa wft g=nati
! FrEuTH qa Sg WA | Al gfige e e s alaedf 6 8@, @
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Carefully verify all information related to the candidate, printed
on Page 2 of the OMR Answer Sheet. If the printed information

belongs to any other -candidate, then inform the Invigilator
immediately and get it replaced.

2. 39 YA [T E&MRT OMR IR 959 | 3 ¢ 78 9T &T |

Put in your full signature on the OMR Answer Sheet in the space
provided.

3. W W IRaw § $ 40 wg-faswediy wom ¥ |Trfum$73ﬁ?%=}%%m
OMR IW U5& 4 fuiiig e W #en 3|
There are 40 Multiple Choice Questions in this

You have to darken in the space s
OMR Answer Sheet.

R T MTH

. Question Booklet.
pecified for Mathematics in the
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4. AWt wvR afrar ¥ ) ueE wvE W) SRIQr | i ¥ | T I W
fore i =@l @hrer S| |

All questions are campulsory. Each question carrics 1 ma-k.
No marks will be deducicd for wrong answer.

S. OMR I W& ¥ U8 | W WRw gl FEgl & wiHges 9¢ &1 36
3AUR Fd H |

Read the instructions provided on page 1 of thc OMR Answer
Sheet carcfully and do accordingly.

6. WA weT § UR feu (A, B, C, D) A @ ¥ | W ® wEd U
I F AT HTY OMR I UAF W -3 T HE B | A A
TN G- Fer 1 A v | dfaw i A g
Four options ( A, B, C, D) are given for each question. You have
to darken duly the most suitable answer on. your OMR

Answer Sheet. Use only Blue or Black Ball-Point Pen. The use of
Pencil is not allowed.

7 oMR 39T UEE W fd M Frdwl w1 eegdE are St A
3T MTFT OMR I T FWFE 00 A IaEt S T @ At

Adhere to the instructions provided in the OMR Answer Sheet
_very carefully otherwise your OMR Answer Sheet will be invalid
\_ and it will not be evaluated. .
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1. e g @) oftds e R o

A) 2-45 B 27
B) 747
(C) 'Jl_i (D) 2=

Which of the following is rational number ?

(A) 2-v5 (B) %-}/_g
(C) —-j—; (D) 2n
2. YAWIR?
(A)  wfdT e (B) 3wy e
(C) gui & (D) WPy

OO O MTH 4 of 72
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What is zero ?

(A) Rational number (B) Irrational number

(C) Whole number (f)] Natural number

3. 0-3 S0 8

@& 3 ®
© 3 o) 2
0-3 is equal to

A 3 ®
© 3 o) 2

IR MTH . s
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4. L

75 giegs R

A) V2 @ 2

| 2
- |
(C) lg— | (D) -7‘1-2_-

The rationalisation of —L_ is

V2
) B 2
© 2 o) 42
5. (36 j%%'lﬁ'l‘-?'@"ﬂ
(A) 2 | (B) 4
{C:] 6 (D) 8

L
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Vahoe of 136‘.3 will be

@ 2 ® 4
) © (D) 8

2+42H2-42) s W R 2

0.

n—’{! 2 (ﬁ] 4
) O D) 5
Which is equal to (2+v2)(2-V2) ?

U':l 2 B) 4

-- AU 7 of 72
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7. Preaffen § 3 9 e @ 2 5

(A)  4x? _3x 47
B)  y*+.42
(€C)  x'04y3 4450
O) y+2
J Yy
Which of the following is not polynomial ?

(A)  4x%2 -3x+7

AR RO MTH 5 of 72
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(A)  x%+x B) y+y’+4
(C) l+x (D) (x-x*)
Which of the following is a triple polynomial ?
(A)  x*+x (B) y+y +4
(C) 1+x D) (x-x)
qEIG 2+ x7 + x 4 x? &l 1T 8

A) -1 (B 1

© -2 D) 2

MDA AR MTH 0 of 72
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Coeflicient of A7 in the polynomial 2 + x? 4+ x s
A -1 B) 1
© -2 D) 2

10, p(x)=2x+1 ® g=re R

(A)

|
=
|

& (D) 2

Zeroof p(x)=2x+1 is

(A)

N
e
[

) 1 D) 2

1 AR M
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11. (3x2+x+1) & (x—1) 8 9 & W A% A7 AT

(A) 1 B) 3

€ 5 (D) -9,

On dividing (3.t2+x+1} by (x-1) the remainder obtained

will be
A) 1 B) 3
C) 5 | D) -5

12. f= 4 @+ @ = aren Hes affemw @ 2

(A) 2x+5=0 (B) © 3x+2=0

(C) 5=2x D) 2x+y=7

QLR A MTH 1 oy 72
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Which of the following is a linear cquation with two variables ?

(A) 2x +5=0 (B) 3x+2=0

(C) s

2x D) 2x+y=7

13. (x-y)=2wegad

@ (2,1) B) (4,2)
< (3,2) D) (1,0)

Solution of (x - y)=2 is

@ (2,1) | B (4 2)

© (3,2) (D)

B i MrH

(1,0)

12 of 72
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14. @ @ Waw wftento & & @d 2

A) T B)
((5; a3 d (D) @¥a El

Solution(s) of a linear equation with two variables is/ are
(A) - one - B) two
(C) infinity (D) not possible

15. fag(-3,-5)fFmagumifeae?

AN MTH 13 of |72
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In which quadrant is the point ( - 3, - 5) located ?
(A)  First (B)  Seccond
(C) Third (1) Fourth

16.  fag o fdme 3

-
o
—

A (-5 2) B (2,-5)

(€) (2,0) (D) (-5,0)

T L mTH 14 of 72
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Co-ordinates of the point C are
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A Y
5 4+
4 4
3 4+
Corovenmennne. 2l
e+
5-4-3-2-1%4 1234 5
-2 4
-3 4+
-4 4
-5 4
(A)  (-5,2) B) (2,-35)
€) (2,0) D) (-5,0)
17.  105° 1 TS HIT 3
(A) 45° (B) 5S5°
(C) 65° (D) 75°
0 - MTH
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SUpplcmentary angle of 105° jg

(A] 450 (B) 55

€ 65° -

18. A Q1 vt &1 4 90° A, A 39 AT FY w71 FEA F 2

(A)  WETE W
(B) EHHN
(C; T B
(D) ¥ 8@ ®i§ T

L — R
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If the sum of two angles is 90°, then what are those angies

called ?

(A) Supplementary angle

(B) Right angle

(C) Complementary angle

(D) None of these

19. Hfd ¥ AOB TH &3 W@ 3, a1 x 1 HIF 20

(:’;] 98"

(C) 80

AL

) 82° }
0
(B) 8&°
(D} 108"
MTH

17 of 72
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In the figure AOB is a straight line, then the value of x will be

C
A ~ /82 » B
O
(A) 98° (B) 8°
(C) 80° (D) 108°
20. pfa & x w1 9@ M
A
20
50 =~
B C D
&) so° (B) 120°
€ 100° (D} 180°

A0 Mra

18 of 72
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The value of x in the figure is

(A)  80° (B) 120°
(C)  100° (D) 180°

21, faga & =1 @rn & 3m g R

(A)  80° (B) 180°

(C) 9o° : (D) 100°

(TR T mrn 19 of 72



Download PDF from - JACBoardSolutions.com

xx-lgmu'ro?ﬂ

IX-( MTH & SCI ) JAC

The sum of three angles of a triangle is
(A) 80° (B) 180°

(C) 90° (D) 100°

22. fmifea § @ #19 fgell A gatrewa H FHA 4 R 2

(A) SAS (B) ASA
(C) SSA (D) SSS
Which of the following is not congruence criterion of triangles ?
(A) SAS (B) ASA

(C) SSA (D) SSS

i MTH 20 of 72
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Ex.mmfm
23, AR LA=<4P, £B=4Q M AB=PO a,

4A]  AABC = APQR

(B) ACBA = APQR

(C) ACAB = APQR

(D) ABCA = APQR

If ZA=£ZP, £B =ZQ and AB = PQ, then
(A) AABC = APQR

(B) ACBA =APQR

(C) ACAB = APQR

(D) ABCA = APQR

o s 2101 7
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v 9qye & @ Hol @ 9 110°,82°E?=f68"€r‘"%’amm
&1 41 7 gl 2

(A)  100° (B) 105°

(C) 110° (D) 150°

It the values of three angles of a quadrilateral are 110°, 82° and

68°, then what will be the measures of the fourth angle ?

(A} 100° (B) 105°

() 110° | (D)  150°

25. U HiAUSqYS ABCDH «D = 135“'@:3}48%%%%9

O R MrH

() as° B) ss0
€y 135° (D)  180°

22 of 72
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A as (8)
Cl 135° \Dl
26 TEEENE & fAev wER a9
(A) U (B}
(Cy <= (D)

Diagonals of rhombus are

(A) equal

(C) perpendicular

AR T T

(B)

(D)

MTH

IX{ MTHR & 8C1)

« 135 then what 1z the

88

1807

i ] wé T

parallel

none of these
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27, T @ onum ot uw @ eni Ynail % et fe gl aqfal 4,

fwe & wa ¥
(A) T (B) W§l U B
(C) A (D) %E 4 ¥t

Parallelograms lying on the same base and between the sarﬁc

parallel lines have the areas

(A) equal
q (B) greater and smaller

(C)  half
(D] all of thesc

L T MTH

29 of 72
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28. uﬁ@magﬁa%ﬁmd&msﬁunmi,?hmmma?

(Ar 35cm’ (B) 70cm

2
(C) 38cm’ (D) 140 cm

If the diagonals of a rhombus are 5 cm and 14 cm, then what is

its area ?
' 2
(A) 35cm’ (B) 70cm
2
(C) 38cm’ (D) 140 cm

g T MTH 25 of 72
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29. U Wi ags dzAa+2C=?

(A)  270° ' B) 90°
) 360° (D) 180°
In a cyclic quadrilateral ZA + £C =?

(A)  270° (B) 90°

(C) 360° (D) -180°

30. gu &I a8 & Sfar At 2
(a) (B) =g
(€ = (D) FEs

A arH

26 of 72
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The largest chord of a circle is

(A) Radius . (B) Diameter
(C) Chord (D) Segment
31. s IR THER A wEma | ............ Hv i T G TE R
{Al 37-5° ' {B_}//,,,,_Foo
/'
[C} 22-5° | (D) 67-5°

Which of the following angles cannot be constructed with

heip of ruler and ccmpass ?

(A) 37-5° (B) 40°

(C) 22.5° (D) 67-5°

A MTH >

N 2]



Download PDF from - JACBoardSolutions.com

X-( MTH & SCI ) JAC Fx-(gjlnﬁaoa
32 #mwgz
(A) 2tb-c
2

LB) JS{S—-aHs—bHs—c}

(C) vS(s +aj(s + bj(s + )

(D) %0 A $1 78

The formula of Heron is

(A} L'I_+_b_-£

2
{B) vy S{s—a)(s-b)(s-¢)
(C)  ys(s+a)(s+b)(s+)

(D}  None of these

PRI N wrs 26 of 72
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23, @ By @ el 122 m, 120 m 3 22 m &, @ 3@ Bgm =

qftm 2
(A) 132cm (B) 122m
(C) 264m (D) 120m

If the sides of a triangle are 122 m, 120 m and 22 m, then the

perimeter of the triangle is

(A) 132 cm (B) 122 m

(C) 264 m (D) 120m

QT MTH 29 of 72
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34 wmﬁqﬁfﬂqﬁnmmcm%lﬂﬁ-w
(A) 60 cm By” 20cm
(C) i0cm (D) Scm

The perimeter of an equilateral triangle is 60 cm. The length of

its side is
(A) 60 cm (B) 20 cm
(C) 10 cm (D) Scm

T T ———

30 of 72
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RRE
3
(A) 8 cm® (B) Sl12cm

) 64cm (D) 27 cm®

If the total surface area of a cube is 96 cmz, then the volume of

the cube is
(A) 8cm’ (B) 512cm°
C) 64cm® (D) 27 cm®

T urH 31 of 72



Download PDF from - JACBoardSolutions.com

[X-(9)/11/7004
L

IX-( MTH & SCI ) JAC .
R CANICE I R

30. z:rﬁqaﬁ&mﬁﬁmriami,—aféh%.

(A) 2arh (P} arh
(C) =r’n D)  Larrh

If the radius of a cylinder is r and height is h, then what is its

curved surface arca ?

(A] 2nrh {B) rrh

(C) nrn (D) J—nrh

A MTH

32 of 72
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a2
&) nrlh (B) 3nr’h
(é) % nrih (D) 2nrh

If the height.of a cone is h, radius is r and slant height is [, then

the volume of the cone is

(A nr*h (B) 3rnréh

(C) -:lg—nrzh (D) 2nr2h

QT MTH S
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38.  uf et s 0 fwan r 2, @ IEH ’
b1 202 B 4nr?
g:% %—:w2 (D) %Iﬂrz

If the radius of a hemisphere is r then what is the curyy

surface area of it ?
(A) 2nr? (B) 2

C P
(C) nr D) 4.2

39. & aferet 10 - 25 9 51 dfim 3

AA) 15
B) 25

(C) 40

VI

(D) 26 .

34 of 72
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\

Upper limit of class-interval 10 - 25 is
(A) 15 (B) 25
(C) 40 (D) 20

40. ufe frd R ) T SN 39T T 2, @ Faa W ) iRk 8

(M

B 5 B)

-(C) (D)

NS
o

If a coin is tossed once, the probability of getting a head is

(A) (B)

N
W=

© % (D)

O

0 MTH 35 of 72



